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QUESTION 1

Which statement about a whitelist security model is true?
A. Permit all traffic.

B. Deny specific traffic flows, and permit any other traffic.
C. Permit specific traffic flows, and deny any other traffic.
D. Deny all traffic.

Correct Answer: C

QUESTION 2

Which four subcomponents can contracts be broken into? (Choose four.)
A. subjects

B. filters

C. actions

D. labels

E. tenants

F. end points

G. access entity profile

Correct Answer. ABCD

QUESTION 3

Which three types of interface are supported on border leaf switches to connect to an external router? (Choose three.)
A. Layer 3 interface

B. subinterface with 802.1Q tagging

C. backup interface

D. switched virtual interface

E. management interface

F. point-to-point interface

Correct Answer: ABD
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QUESTION 4

Which statement about bridge domains is true?

A. EPGs can be associated with multiple bridge domains within a tenant.

B. Subnets may overlap across bridge domains within a tenant.

C. Applications that require Layer 2 flooding should use one bridge domain per subnet.
D. Bridge domains support only private or public subnet scopes.

Correct Answer: C

QUESTION 5

Which three elements of the ACI fabric contribute to zero-touch deployment capability? (Choose three.)
A. centralized controller for policy, bootstrap, and image management

B. topology auto discovery, automated configuration, and infrastructure addressing

C. loose wiring validation

D. support for iBGP confederations

E. NX-API and NETCONF protocol interfaces

F. orchestration using Visore

Correct Answer: ABC
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